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What is the estimated proportion of the entire area taken up by the inner circle?

What is the estimated proportion of the entire area taken up by the outer or larger circle?

What is the estimated proportion of the entire area that is outside the circles?

There are 33 rows and 33 column s of patches.  33 * 33 = 330 * 3 + 33 * 3 = 990 + 99 = 1089.  Give the estimated area of the inner circle?

Give the estimated area of the outer circle?

[bookmark: _GoBack]Give the estimated area of the area outside both circles of trust.
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